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SSAE & crol e
CES(BIH) - MBAY - BAS Abou e =2

=J=2=2 30,900& * 1Y = 260 8,034
—52I22Y 30,900& * 1Y = 37 1,144
—4EE = 9,178,000& = 0.103 946
201 ety 27,365
01 ArR2t2idl 2,772
Ops 2| 2,772
— 201 AHI Y| (H Al 121,000& * 12& 1,452
—201ZHIEYH(D2EHA) 110,000& * 12& 1,320
02 3224l 24,593
Odz | 11,232
—dUsSs 1,300& * 12¢ * 8CH » 90 11,232
OAl& EHl= Xl 7,361
—SEAMNY DZE=FL 3,000& = 1,753.6m 5,261
—ldAS Ebl=el 100,000& * 604 600
—ZA|,ZE2E £2|H] 150,000& * 10CH 1,500
O Xt k& ety| 6,000
—SSH 400,000& + 123 4,800
=8| 300,000& = 42D 1,200
ZTAEBL 215,104
101 Q12| 17,624
10 JI2ZtHZ2=2NSE 17,624
OF&EXFW & 6IHA) 50,000& * 109 = 52 * 33 7,500
ONssa el 10,124




2N

gXS

dM: X5 AAEEH
Bl AR SSAIE 2el &R
SA - EB S (31H) - KR A Akl e =
— ol | 30,9003 * 19 » 260 8,034
-2 30,900& » 1Y * 37 1,144
—4UEE= 9,178,000& = 0.103 946
201 LBt 3| 68,880 48,517 20,363
02 23294l 68,880 48,517 20,363
03322 & HAl 68,880
—AJHX ¥ sEINZS &I 44,400
HHS 27,600
SEs 16,800
—nsdlss #ies 5,400
—gXln Z2xFH| 19,080
- AOIEMNER 1,080
HENER 18,000
206 M =4l 3,600 3,200 400
01 =4l 3,600 3,200 400
OMs3d & 233 s<4 ¢ 350,000& * 43| 1,400
OUWlFIIxcl & A28 2 1,000
ON=3d E=5st&Ea R 200,000& * 644 1,200
401 AlEHIZ 20| 110,000 70,000 40,000
01 Al&HI 110,000 0 110,000
EMTNESE NS B 30,000,000& 30,000
OdINssd AdEs & R 30,000,000& 30,000
OS3ANEE ®A L MEt=H 50,000,000& 50,000




2N

=H EEE
el 2z B2 chol &
= A CERI(BIH) - NIRAY - A S Akl e =
405 XH&HFE SHI 15,000 0 15,000
01 MM ESSFHSHI 15,000 0 15,000
OdgXlidssd2elo e s 5,000, 000& 5,000
O8stt HESH 23D 2,000,000& * 504 10,000
& BI(EXS) 219,818 216,691 3,127
IHARHHI(LXS) 102,363 90,961 11,402
0|3t 84,643 73,801 10,842
101 124 H| 84,643 73,801 10,842
09 SIAHAZZXNE S 84,643 73,801 10,842
O dolst& 84,323
—Jl2a 1,154,740 = 298 » 128 27,714
—J|2==g 1,724, 740% * 2.0 » 293 6,899
—&d32==Y 1,724, 7403+ 0.5 » 2% * 23] 3,450
— M e 1,724, 740% » 2.5 = 29 8,624
—ZE S0t 1,724, 7408 + 1.2 = 29 4,140
— A gAY 160,000& * 2% * 12& 3,840
—wEE XY 140,000& * 29 * 128 3,360
—ANZ2AI R+ 7,6313 « 1.5 » 30AI2F » 29 * 123 8,242
—5222E 61,0483 * 2 » 2& » 123 2,931
—AXREas I 61,0483 » 2% * 19g 2,320
—HEHIE XY 618
eI 51,4003 » 2% * 0.19 * 43| 79
ME=)=I T 420,790& « 2F x 0.16 » 435 539
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2M: EXS
M HY2AAH(LXIS)
el J|=AH(EXS) (e &
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
Jl2dul(£Xs) 117,455 125,730 A8,275
JI2EE(LRS) 117,455 125,730 A8,275
201 Lgr29y| 60,255 64,130 A3,875
01 AFRZ2ldl 44,855 48,310 3,455
OYLt4=2H| 23,000,000 23,000
ozg=¢ 11,875
—gxAg 50,0002 * 1% = 110 5,500
T = 25,0008 * 1% » 2552 6,375
ou =l 80,0002 * 4% 320
o=l 5,0008 * 23% » 7Y * 12& 9,660
02 B32gHI 15,400 15,820 A420
03222 ¢ MA 15,400,000 15,400
202 01| 57,200 59,600 A2,400
01 =2LHoidl 2,000 2,000 0
O=ZLHo ] 2,000,000 2,000
02 Kol 55,200
Og 0l 200,000 * 23 « 122 55,200




